Sample Questions

Multiple-choice test

1
The sentence She demanded that he apologise contains

A
a conditional clause
B
an imperative clause

C
a subjunctive clause

D
an interrogative clause.

2
Which of the following statements is false?
A
In English, subjects of finite clauses are in Nominative.

B
In English, direct objects of finite clauses are in Accusative.

C
In English, subjects of non-finite clauses are in Nominative.

D
In English, direct objects of non-finite clauses are in Accusative.

3
A condition a linguistic theory must satisfy saying that very young children must be able to acquire language in a remarkably short period of time is termed

A
the semantic component.

B
the Phonetic Form.

C
explanatory adequacy.

D
learnability.

4
According to the innateness hypothesis,

A
children acquire language based on their linguistic experience.

B
at around the age of eighteen months children can start producing utterances containing two or more words.

C
single words are produced in isolation.

D
the ability to speak and acquire language is unique to humans.

5
The child sentence What doing?  can be used to determine whether or not the child has set the
A
Null Subject Parameter and the Head Position Parameter.
B
the Wh-parameter and the Head Position Parameter.

C
the Null Subject Parameter and the Wh-parameter.

D
Locality Principle.

6
Which of the sentences contains a truncated null-subject?

A
You doing anything tonight?
B
I want to go home.
C
Please don’t say anything!
D
Had a great time.
7
In the sentence The knife cut the cake the subject bears

A
an instrument theta-role.

B
a theme theta-role.

C
an experiencer theta-role.

D
an agent theta-role.

8
Given the sentence Peter is in Paris, which statement is false?

A
The subject is assigned a theme theta-role.

B
The theta-marking element is the verb be.

C
The subject is in Nominative case.

D
The theta-marking element is the preposition in.

9
Which group contains only members that can belong to an underspecified category?
A
that, if, for
B
by, of
C
that, my, both
D
would, have, be
10
The sentence It shocked them that the robbers walked away exemplifies

A
raising.

B
clefting.

C
pseudo-clefting.

D
extraposition.

11
The sentence Mary appears to have left illustrates
A
topicalisation.
B
preposing.

C
raising.

D
extraposition.

12
Which of the sentences below does not contain a non-overt subject PRO?
A
They seemed to have missed the train.
B
He ordered them to put down their weapons.

C
He wasn’t sure what to do.
D
He threatened to leave.

13
Which of the verbs below is a three-place predicate?
A
send
B
run
C
wait
D
become
14
Choose the best answer.

A
Argument taking predicates are V, A, P.

B
Argument taking predicates are N, A, P.

C
The verb be can take NP, AP, PP and clausal complements.

D
The verb have can take NP and clausal complements.

15
In the sentence The girl living next door walked her dog regularly in the afternoon, the subject is

A
girl
B
the girl
C
the girl living next door
D
the girl next door
16
The sentence The tourists, who knew the way, arrived on time and didn’t get lost, contains

A
a defining relative clause.

B
a non-defining relative clause.

C
a free relative clause.

D
a noun complement clause.
17
The tree diagram in (i) could not be filled by the sequence

(i)
X’


X

YP
A
ban on nuclear weapons.

B
fond of Mary.

C
under the table.

D
a train arrive(d).

18
Which sentence below contains a non-finite clause whose subject position is occupied by a trace?
A
They consider him to be intelligent.
B
Peter ordered Mary to leave.
C
They believed him to be a liar.
D
He was thought to have left earlier.
19
Which of the sentences below contains an expletive (pleonastic) pronoun?
A
He put it there.

B
There he was.

C
It has never broken down before.

D
There were three men there.
20
An Adjective head can subcategorise for
A
a PP. 

B
an NP or a PP. 

C
an NP or a clause. 

D
a PP or a clause
21
In the sentence Frank seems to be said to be unlikely to arrest the suspect, the subject is theta-marked by, i.e. starts off as the argument of,

A
seem.

B
arrest.

C
unlikely.

D
said.

22
Which sentence below contains a verb with the argument structure <agent, theme>?
A
Peter loves Mary.

B
Peter received a letter.

C
Peter was surpised by the gift.
D
Peter ate another sandwich.

23
Which of the sentences below contains an implicit argument?
A
A train arrived.
B
The window broke.
C
The boy washed.
D
The ship sank.
	24       Given  Which student of Physics? The one with long hair? choose the best answer.

	A
the proform one replaces the head.

	B
the proform one replaces the head+adjunct.

	C
the proform one replaces the head+complement.

	D
the proform one replaces the whole NP.

	25          Which of the statements below is true of raising verbs?

	A
They take a clausal subject.

	B
They can assign nominative case.

	C
They cannot take pleonastic subjects.

	D
Their clausal argument can be finite or non-finite.


	26          The sentence That some of them were speculating over possible motives annoyed the rest of them contains

	A
a DP subject and a DP object.

	B
a clausal subject and a DP object.

	C
a clausal subject and a clausal object..

	D
a DP subject and a clausal object.



	27       The [+N] feature is shared by the categories

	A
P, N, D.





C
C, N, P.

	B
A, N, C.





D
A, N, D.

	28       Which of the following can appear in the I-head position?

	A         modals.

	B         aspectual auxiliaries.

	C         thematic verbs.

	D        complementizers.

	29       The theta-grid and subcategorisation frame of the verb frighten is

	A
<agent, theme>, [nominal, prepositional].

	B
<experiencer, theme>, [prepositional].

	C
<agent, experiencer>, [nominal].

	D
<theme>, [nominal].



	30     What is the structure associated with clauses?

	A
VP

	B
CP

	C
IP

	D
DP
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